ECON 303

Test 1, 100 points

Fall 2005

Answer all questions

1. The Tire-Iron Corporation has fouled the Chesapeake Bay with its emissions of Scrap Iron Particles.  The EPA has estimated the following costs and benefits of removing the emission build-up from the Bay:

	Tons of Particles Removed
	Total Social Benefits of Removal
	Total Social Costs of Removal
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How many tons of particles would be removed in a socially efficient clean-up?


a.
1


b.
2


c.
3


d. 
4
2. Haugh and Haugh, a corporate law practice is contemplating an office move.  After identifying an acceptable site last month priced at $100,000 senior partner Jolly Haugh pays $3,000 to Languid Reality to hold the land for 6 months.  This $3,000 payment is not refundable, and is not part of the sales price of the tract.  Prior to the end of the 6 month interval, junior partner Liar D. Haugh finds an equally acceptable site priced at $98,000.  Which site should the firm purchase?  Why? 
a. The $100,000 tract, because the $3,000 payment is a sunk cost.

b. The $98,000 tract, because the $3,000 payment is a sunk cost.
c. The $100,000 tract, because the $3,000 payment is wasted unless the firm buys this tract.
d. The $98,000 tract, because the $100,000 tract really costs $103,000.
The following information pertains to questions 3 and 4. 

Until recently, you worked as an accountant, earning $30,000 annually. Then you inherited a piece of commercial real estate, consisting of a single office space that, in its then-current use was bringing in $12,000 in rent annually.  You decided to leave your job and operate a video rental store in the office space you inherited.  At the end of the first year, your books showed total revenues of $60,000 and total costs of $30,000 for video purchases, utilities, taxes, and supplies. 
3. What are your economic profits of operating the video store?

a. $30,000
b. $12,000
c. $0

d. -$12,000
4. What are your accounting profits of operating the video store?

a. $30,000

b. $12,000

c. $0

d. -$12,000

5. Which of the following would lead to a DECREASE in the demand for tennis balls?

a. An increase in the price of tennis balls.

b. A decrease in the price of tennis rackets 
c. An increase in the cost of producing tennis balls 
d. A decrease in average household income when tennis balls are a normal good
6. Scientists have developed a bacteria that they believe will lower the freezing point of agricultural produce.  This innovation could allow farmers to continue to sell fresh fruits, such as peaches, far later into the fall than previously, rather than cleaning the orchards, and selling all late season produce to canners.  If this technology becomes widely used, what will happen to the equilibrium prices and quantities of both fresh and canned peaches? 
a. The price of both fresh and canned peaches will increase, and the quantity of both fresh and canned peaches will fall. 

b. The price and quantity of fresh peaches will increase, and the price and quantity of canned peaches will decrease. 

c. The price and quantity of fresh peaches will decrease, and the price and quantity of canned peaches will increase. 

d. The price and quantity of fresh peaches will decrease, and the price and quantity of canned peaches will decrease.
7.  In which of the following cases will the effect on equilibrium output be indeterminate (i.e., depend on the magnitudes of the shifts in supply and demand)? 
a. Demand increases and supply increases
b. Demand decreases and supply decreases
c. Demand decreases and supply increases 
d. Demand remains constant and supply increases
8. Suppose that the current equilibrium price of a six pack of Red Hook golden ale is $6.00.  What would be the likely effect of an $6.50 per six pack price ceiling on the sales of Red Hook golden ale

a. The price ceiling is below the current equilibrium and would thus create a surplus.

b. The price ceiling is above the current equilibrium and would thus not affect the market 

c. The price ceiling is above the current equilibrium and would thus create a shortage

d. The price ceiling is above the current equilibrium and would thus create a surplus

9. The Board of Directors at Hewlett-Johnson Inc. has been debating what kind of compensation package to offer to its new CEO.  Which of the following packages will most effectively address the principle agent problem?

a. A $500,000 signing bonus, plus an annual salary of $1,500,000

b. An annual salary of $1,000,000 plus a $1,000,000 bonus if HJ’s net return on assets exceeds 7%.

c. An annual salary of $1,000,000, plus stock options valued at $1,000,000 each year.

d. An annual salary of $1,000,000, plus stock valued at $1,000,000 each year, that the CEO may not sell for 5 years.

10. Ralph Dolittle owns an annuity that will pay $100 per year for each of the next 3 years (with the first payment coming 1 year from today).  Ralph has recently received several offers to buy his annuity.  If the interest rate is 10%, which of the below choices is closest to the minimum offer Ralph should consider accepting? 
a. $91

b. $100

c. $250
d. $300
11. Which of the following is LEAST likely to cause a shift in the supply of orange juice?

a. An early frost.

b. A new genetic technology that allows picked oranges to remain fresh for up to 3 months.

c. A change in the price of orange juice.

d. A change in labor laws that forces orchard owners to pay higher wages to the migrant workers who harvest the oranges.

12.  Jake Hunter, head of marketing at Weeper Enterprises, a firm that produces a specialized “wet broom” for cleaning porches and garages.  Jake estimates that at current prices, the price elasticity of demand for the wet broom is -.74 while the price elasticity of demand for all porch and garage brooms is -1.5.  As a result, Jake argues that Weeper should have a sale for the wet broom.  What do you think?

a. The price elasticity estimates are reasonable, and in such a case, a sale will increase profitability 

b. Firm elasticity of demand should be larger than market elasticity of demand, but if elasticity is measured correctly, a sale is appropriate.

c. The elasticity estimates are reasonable, but in such a case a sale will reduce profitability

d.  Firm elasticity should be larger than market elasticity of demand.  Further, if elasticity is measured correctly, a sale would reduce profits.

13.  At current prices, the price elasticity of demand for bus trips between Charlottesville and Richmond is -2.4.  Greyhound Bus company is considering running a sale.  What can you say about the likely consequences of a price reduction?

a. Total Revenues will fall and profits will fall

b. Total Revenues will increase, but the effect on profits will be uncertain.  

c. Total Revenues will fall, but the effect on profits will be uncertain.

d. Total Revenues will increase, and profits will increase.

Essay Question.
1. (25 points) Wee-Mugs Inc. manufactures and sells hand-crafted ceramic mugs ornamented with the faces of elves.  The demand for the "elf mugs" is Q = 50 - 2P + 4I, where I = per capita income (in thousands of dollars), and P = the price of the mugs.

a. What is the demand curve if I = 10 thousand dollars? (5 points) 

Q 
= 
50
-
2P +4(10)



=
90
-
2P

b. Suppose Wee Mugs decreases the price of the mugs from P0 = $20 to P1 = $10.  How much would Q change as the price adjusted? (5 points
P0

=
20

Q0
=
50

P1

=
10

Q1
=
70

c. Use your arc price elasticity formula to calculate price elasticity over the range of prices between $10 and $20 (5 points)
(
=
(Q0 – Q1) (P0 + P1)
=
(50 – 70)(20+10)
=  -20(30) = -.5


(P0 – P1) (Q0 + Q1)

(20 – 10)(50+70)
  (10)(120) 
d. Use the point price elasticity formula to calculate the price elasticity of demand when P = $20. (5 points)

(
=
dQ/dP (P/Q)
=
-2(20/70)
=
-4/7 =  -.57
e. Why do your answers to c and d differ?  (5 points. A short sentence)

Demand typically becomes more elastic as price increases.  

The answer in d is an average elasticity over a range of prices. 

2. (15 points) Consider a firm with “standard” revenue and cost functions.  Suppose that this firm maximizes profits at a quantity of 100 units.  In the three graphs shown below, illustrate (a) TR and TC functions, and (c) MR and MC functions that line up appropriately. (Note, on each chart, point out the place where profits are maximized, and indicate the level of profits  (In each panel, 4 points for correctly drawing each chart. Then, in each chart 1 points for showing the point of profit maximization and 2 points for identifying profits Finally, 1 point for correctly lining up your charts
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